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e  mes

Reg No

S VI Semester BCom Degree Exammatlon, September,- 2021

COMMERCE
Cost Management
(CBCS Scheme)

Tlme -3 Hours L S SRR Maxnmum Marks 70
Instructzons to Candtdates | ' ’ L

Answer should be ertten completely e1ther in Engllsh Or in Kannada i

SECTION A
&ngarf -

R Answer any Flve sub questlons fr%g he followmg Each sub—questlon cames Two marks
| ea Ul

asa"ed Tgodad ee qoRDdEDHOON @arwm 2

’ b) ' What is materlal cost Varlance? |
— s:'mo ﬁas we'a“a?oddeam :

) What is Flexxble budget‘7 Sl
R ZJCSQJDT?DES mOﬂd 3330530"@&3‘7

{\(}_. d) - :Deﬁne margmal COStlng

oy g oy, mmg o

' ‘:ev):j State any two beneﬁts ofABC cestmg

] esqsad Segoas oo emmc‘aaem ezseﬂ);}”

f) 'What isa sales budget"

.."gaﬁa'eb‘oés @OCS:)Z:‘.O wes @ocﬂd’em? St

. 8) .What is Contnbutlon‘?

B3R sondeme

 pro.




' -Answer any Three of the followmg Each questlon carrles SlX marks.‘ o

1*l, tummmmum,_ . C

SECTION B
a)zp'aﬁ ab

- oﬁa@mcﬁdfa ab.:ada wé‘3 non emém wawéﬁ e.-sd: c-aosm}a

N ’What are the essent1als for: success of cost control‘? G et
=% 23033032@53 oi)an)rl BeTorda SWE woarl%@a@‘? S

3. State the advantages of Budgetary contrcl-.

?e‘omosa :oojaogsecs emmeéﬁm& eepa. o

D

v

| 4 :From the followmg 1nfor1nat10n calculate

. Profit volume ratxo ‘

-~ Fixed costs S

‘Sales volume to earn§ of Rs 40 000
- ‘Sales Rs. l 00,000 - et

. ,Proﬁt Rs.10,000

Var1ablecost70% o Ce QJ/

f; By BUNT BPEIOWOT.

ca)

)
c)

[Sptng mz«s @5&'@3
.—od 6323

. 40 000 eaa; wéosaoa SIT0ET me socsaao@om o

aisaoe&s ow. 100 000 -
ORI dra 10 OO()
wzscramw ﬁzs ée 70.

| ’From_the following calculate labour variances_of Department A

Partlculars S ~ DepartmentA |
© Actual direct wages Rs.2,000 |

o .Standardhours 8,000 7

Standard rate pet hour 30 Paise
Actualhours worked 8200

(x6=18)
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9N asonvon agen A o FH m—aenem B0 BBOWD. BRI
'aasenea Sl o A
WIFICO a0
. WMomeE rodnes 8,000
| -_f*aocscses- ) enoesﬁ AECIR R 3087
ESHogne . g Sl |
6. "Acompany manufactures two productsAandB usmg common facrhtres The followmg»,. e
) cost data foramonth are presented to you - .

: S - ProductA S .-ProductB
"EUmtsproduced SR L0000 2 O()()
| 'Dlrectlabourhoursperumt .» 2 o ‘ 3 B
- Machine hours perunit = - 6 s
o ':SetupofMachmes i ‘ 15‘ . ’_SO S
o Odders . o 70
'.“f_-:_‘.‘ Machlne actlvrty expenses Rs 3 ,00 4@% -
© Setup related expenses Rs.30,000

S ':Expenses relatmg to orders Rs.35,000 = /E%%
Calculate the overheads per unit absorbed usmg activity $d c costlng approach

i «"aamas RRognys, BOTO3REAY 20T BOTY AT TRGFE ”e"@a A DR B 033554
f‘»emea@ﬂoe’d 2«3063 éoﬁ% ﬁasmio 8 6%0?50353 e
, : _ TP B a':;’caz&-
| emago,’a,cs otoREsies '. o L000 2000
3O %R0 fo T cvedR 20 |
‘B odwa:b&s‘ﬁ aBog zio&érieéo 6 15
o obogne m@s 15 s |
Cedesne T
ooz zseeome a)zzo:- T, 300 000
S RononAs DdebErith do. 30,000
- edesnen Noaoomcs aaasormfo 8w 35 000 , ~
| 'wa AR e saasamm 'ABC o3 wa'o s o&raem eoc;; ao@oooa
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f 'SECTION-?C& |
az;-m e

R Answer any Three of the followmg Each questron carries Fourteen marks (3><14==42) » :
A odaea@aacsm S0 wa m?ﬁ w3or. Zo TR 14 eosm:o | |

e 1. The b_udgeted oyerh‘efad"ancl-cost driver VolumesofKarthlk Ltdare 'aS-»;fO-l_ldWSi R b

s ~ Cost Pﬂol R Budgeted : Costdrlver : Budgeted VOlume
e R : '"}}A0ver head o ;' f ‘

. ""‘yvvv»,Materlal Procurement VRS.S,QS,OOO : '-No of orders o s 850

F"Machlne setup ‘, RS3,60,000 NO._Of_Setup | 400

| | h 200 OOO Maintainance'hours- 3100 1)

‘ ;le_lial_ity control o | Rs.£,60 })OOV - No. of 1nspect10n “ : 5 80()
' Machinery' ' “ S Rs4 50 0@‘?4,$ o.of Machme hours - '*2'6,7000 . B

' Maintainance

- ‘:..:'The company has produced a batch of 2500 components of AZ Its matenal cost, was"'_ Bl
Rs.1,50,000 and labour cost Rs. 2 00 000 The usage of act1v1t1es of thrs batch isas
follows: : . - il

: vMaterral orders - _20' E
| Setup of Machmes 22
. Mamtamance hours 560
‘L:: i No.of mspect10ns '25
it - Machme hours ‘ 1500

S Calculate cost drwer rates that are used for computlng approprlate amount of
e joverhead to this batch and: ascertain the cost of the batch of the component usmg act1v1ty
based costmg R :
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following information. e : :
'k,,:.iMo'nt‘h‘ »Cred‘it» sales (Rs.) Purcﬁas»eﬂRs.). : ’  rWages(Rs.) =
| '_*Febrgar'y 1,80,000 1,24,800 . s 12,000} ;A

March 192000 144000 = 14,000
CApil 108000 243000 q1o00

May . L7400 246000 10000 | i
O dwme 126000 268000 1s0 o L

"11. - Prepare a cash Budgét from the fblloWing for the period April to June 2020 ffom_ the

- 50% of the credit sales are realised in the month fol_lowingthe':sales and the reiﬁ:ainirigf "' ' ‘,

e soben T ;wm%@w 203 sm 20208 R

Lo "-;ﬁg;s 180,000 124, @éﬂzao‘oo
C smaE 192000 144000 140

e 108000 S 243000 11,000
Csbe L7400 2,46,000-' '10;000
126,000 268000 15000
508 w0 Sy oo acrag o0 g 9% 08 Sy
0 S0 TRRO SIS, MBTOOH 00T S0t TSRO, da00hrt

-

BB goneonsd BRBOIDIL. §ohY SR D& 12020 dord B, 25,000, . .
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10 Prepare a flexible budget from the followmg 1nformat10n for 12,000 and 15,000 units. For 3_

production of 10, 000 umts The expenses incurred are as follows :

Particulars o ' oo Per unit (Rs) B

. e
Dlrect Materlal' <!

fic

-Direct.labour
i

Fixed overhead (Rs.1,50,000) | : o o o o 15 :f
Variable ov'erheadA | v R P o 25. '»

vVariab:le expenses (Direct) L L s

. Solling expenses (10% Fixed) - s
HE Admlmstratlve expenses ' o | ’ E K | : |
. | (Rs 50 000 fixed for all levels of productlon) o R SR = L
- Dlstrlbutlon expenses (20% F1§ /%\ . o - 5

Total cost

12000 G3eREF b33 15000 osmawe;é/as 3 eosawomsa S0 8300, %
$9NR sl 10, SN Aeomph Qq oy , |

o _;.-a;sdm;o o I | uézss CBRREFR (m'.)"."
v_éedézsa‘?daﬁ e 60

B de0 s
- _}Jd ] (dmsooom - - S o

 wsouns S o S as
oo 8 Sy s
 Sowes a5z (10% 3F) R BT R
vy Bo3wY 48 ereYs Hy (@%350000) | 5

. 930w 3%, (20% Nd) 5

wgEy S R 11 R

PTO.




L o 13626';'

30 wadmfeb mnosm zoocﬁo %@?353 mdcﬂ arae‘D é’baﬂdﬁ% 33 a"%ocsoéa‘i

RO 8001¢ X0z, TS 200 &d m@m& 053 '-sacscs 450 o0 g8
P » | ,, gamows | T no#d T -
PIOT BRFID 75 : .60' j o0 | 70
S o3 P3Oy TWFB 45 40 | 30 50

- @as@caoa AN 60 30 | s | 20

FI 303 32 FOREY aﬁwﬁodoaécs | LY.

B0 &BOWO..
a)  @%ed das [T

b)  =eaed B3 [
o 0) Bwed =TS 3B
d) - xed é)oéﬁsa waan)
The sales and proﬁts for two years asbelow.

" Years Sales (Rs. )5, Profit (Rs.)
2019 , 120000 e
20200 .1,40,000 4%0
. Calculate: - - & -
a) P/Vratio ' '(B<I,9J, .
~ b)  Break evenPoint . o
6 Profit when sales are Rs.1. 80, 000
©. . -d) . Salesrequired to earn a profit of Rs.12,000
. e Marginof safety in 2020.
) Variable cost of the two years.

| R0 DA OB a0B TRERR aoems |
e - IouER) oy (@)

2019 1,20,000 8,000
2020 1,40,000 © 13,000
BOW HBOWVO ’ o

" a) - oog aimca_&s BORIoc0
b)) ADY3 wowd

©) 8R. 180,000 SRoowE, wos wogs
—-d)  dn. 12,000 SCIANLZON aﬁeaad V003
o) gemb 8 2020 09

b vm@amas B3 0> asws—mﬁ
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s ] ‘zsws B oowes Smd

e g danivg e mome

ff-‘m’@@l%'e_e{’"‘ 50395000 LedEEoy 850
o obogmBS  dR360000  mgdne mos, 400
e ._:‘;aaSs-“&wéDi? o Te2,00000  A@F@srownw 3100

by :osas:odsf . 9R.160000 . TOdegeontd ROy, 800

S ckogRed - GR4S50,000 -"o:oojeé PO 126,000

- 30mR0D 1.0 EHEAHY 10T BOTS 2,500 SoRrEY AZ HIRTHE SROLS. FES
L oY s 150,000 w8 380 DepF °p.2,00, 000 uBOIRENAE BT
om0 @ dvsonosds. ‘ | |

. mdh edene 20

oo

owog mEs . 22

’f.','i'_“':?I’,;,,;;;é’aws-aw rotirish " 5670“:
- Toacge R0s, '

_odaoe emwoﬁxaeﬁ O 150 QJ '
532,5 zs'we’ 37 me’a waacis-" 30:5336%0:0 @2&3} da&’aﬁaﬁa zsésams% €3T9T @st‘ar

) amﬁ@ocﬁ 30 50@000&. ﬁ

- ‘_The 1nf0rmat10n regarding composition‘and the weekly wg/ e rates of labour force engaged o
“ona _]Ob Scheduled to be completed in 30 weeks are as follows

'Standard, o " Actual

R Hpes_of labour |  No.of workers| Weekly wage | No.of workers Weekly wage

- |rateperhour| | rate for hour

Skﬂled 1 7560 ' 70.‘ - - 70
. Bemiskilled 45 | 40 | 30 | 50
. Unskilled | 60 30 80 | 20

,Theworkcorhpletedm32weeks R BT 5??*5_

o . : . Calculate :

a) Labour costvariance

“b) Labourrate_varlanc_e :

¢) Labour efficiency variance

i d) Labour mlx variance

pro:




